Name: ___________________________________________ Date: ___________ Period: ____

Accel Weekly Workout #5
Monday
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1.
Which of the following equations can be used to find the length of the ladder in the figure at the right?


A.
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C.
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B.
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D.
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2.  Solve the equation you chose in #1 to find the length of the ladder pictured above. 
3.  The right triangle shown below is formed by joining three squares at their vertices.
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What is the value of x, the side length of the smallest square?  







A.
12 cm


C.
25 cm
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B.
7 cm


D.
35 cm

4.  The right triangle shown below is formed by joining three squares at their vertices.
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What is the value of x, the side length of the smallest square?  







A.
12 cm


C.
8 cm








B.
17 cm


D.
5 cm

Tuesday / Wednesday

Each triangle shown below is a right triangle.  Use the Pythagorean Theorem to find the length of each missing side.  

1.



2.




Missing Side: _____ 




Missing Side: _____


Work:







Work:

3.


4.


Missing Side: _____ 




Missing Side: _____


Work: 







Work:

5.


6.




Missing Side: _____ 




Missing Side: _____


Work: 







Work:
Thursday

1. Juan left his campsite at Eagle Lake Park and hiked east for 10 miles.  He then hiked due north for 16 miles.  What is the shortest distance back to his campsite?


Sketch:  



Work:  

2.  A rectangular box is 60 cm long and 55 cm wide.  Can a skateboard that is 86 cm long fit in

the box? _____  Justify your answer with work.


Sketch:  



Work:  

3. Shannon sold her house and decided to live in a tent until the new house is ready.  The center pole of the tent is 10 ft tall and the sides of the tent are 20 ft on the slant. How wide is the base of the tent to the nearest tenth of a foot?  


Work:  


4.   Mr. Elliott designed a flower garden in the shape of a square. He plans to build a  walkway through the garden, as shown below. What is the length of the walkway?








Work:
25 cm
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? m





8 m





14 m





35 ft.





? ft.





91 ft.





10 km





12 km





? km





? ft





30 ft





40 ft





12 m





8 m





36 mm





? m





25 mm





? m





Answer:





Answer:





                    10 ft





20 ft





?





Answer:
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